r )

Subtraction
up to 1 to 10

Y



[ Example 1 }
: 8-4="7
[Solution:]

We are going to remove 4 from 8

& D D
XAXIXEX,

The remaining donuts are = == W=
1 2 3 4

8—4=

Therefore, 8 -4 =4

AN

-
[Example 2 :J
10-3=7

[Solution:]
We are going to remove 3 from 10

oo [ EEEEE
STV

TITITITT

1 2 3 4
Therefore, 10-3 =7

The remaining flowers are

\_ |
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[ Example 3 }
9-5=7
[Solution:]
We are going to remove 5 from 9

9_5= II l‘l !‘
WP

A A A .
The remaining pencils are II
|
\

Therefore,9-5=4 1234

\_

[Example 4 :J
5-2=7
[Solution:]
We are going to remove 2 from 5

U\

Y \ Y \ Y
\“ \Q \Q
The remaining lemons are ) )
1 2 3
\ Therefore,5-2 =3 /
\_ )
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[Example5 :}
7-4=7°

[Solution:]

We are going to remove 4 from 7

The remaining butterflies are

Therefore, 7-4 =3

U\

-
[Example6 :]
2-1=7

[Solution:]

We are going to remove 1 from 2

Sl XX)
The remaining ball is é@
1

Therefore,2-1=1
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[ Example 7 :}
6-3=7
[Solution:]

We are going to remove 3 from 6

858

The remaining balls are OOO
1 2 3

Therefore, 6-3 =3

U\

-
[Example 8 :J
3-2="7

[Solution:]

We are going to remove 2 from 3

I

The remaining water melon is ﬂ
1
Therefore,3-2=1
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[Example 9 }
4-2=7
[Solution:]
We are going to remove 2 from 4
4 gg“ gg“\
4-7) = “~— ~—
Rk i
& o
The remaining oranges are il N - N
1 2
Therefore, 4-2 =2

U\

\-
[Example 10 : ]
10-7="7
[Solution:]

We are going to remove 7 from 10

Qnr ST I QO
10-7-= 58 38,
\ 30 90 M )

1 2 3
Therefore, 10-7=3
\ J
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The remaining bees are
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